

Addition de Nombres Entiers (G)

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$(-83) + 77 =$$

$$(-31) + 31 =$$

$$(-89) + (-68) =$$

$$39 + 8 =$$

$$(-30) + (-45) =$$

$$88 + (-88) =$$

$$(-96) + 27 =$$

$$(-46) + 13 =$$

$$97 + 62 =$$

$$(-48) + 61 =$$

$$40 + 58 =$$

$$97 + 49 =$$

$$(-43) + (-30) =$$

$$74 + (-24) =$$

$$(-50) + (-54) =$$

$$64 + (-79) =$$

$$(-64) + (-45) =$$

$$(-89) + (-86) =$$

$$(-84) + (-32) =$$

$$(-61) + (-29) =$$

$$66 + 60 =$$

$$38 + 59 =$$

$$(-86) + (-97) =$$

$$(-4) + (-57) =$$

$$25 + 52 =$$

$$49 + (-14) =$$

$$52 + 11 =$$

$$75 + 14 =$$

$$(-44) + 78 =$$

$$1 + (-44) =$$

Addition de Nombres Entiers (G) Réponses

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$\begin{aligned}(-83) + 77 &= \\ &= (-6)\end{aligned}$$

$$\begin{aligned}(-31) + 31 &= \\ &= 0\end{aligned}$$

$$\begin{aligned}(-89) + (-68) &= \\ &= (-157)\end{aligned}$$

$$\begin{aligned}39 + 8 &= \\ &= 47\end{aligned}$$

$$\begin{aligned}(-30) + (-45) &= \\ &= (-75)\end{aligned}$$

$$\begin{aligned}88 + (-88) &= \\ &= 0\end{aligned}$$

$$\begin{aligned}(-96) + 27 &= \\ &= (-69)\end{aligned}$$

$$\begin{aligned}(-46) + 13 &= \\ &= (-33)\end{aligned}$$

$$\begin{aligned}97 + 62 &= \\ &= 159\end{aligned}$$

$$\begin{aligned}(-48) + 61 &= \\ &= 13\end{aligned}$$

$$\begin{aligned}40 + 58 &= \\ &= 98\end{aligned}$$

$$\begin{aligned}97 + 49 &= \\ &= 146\end{aligned}$$

$$\begin{aligned}(-43) + (-30) &= \\ &= (-73)\end{aligned}$$

$$\begin{aligned}74 + (-24) &= \\ &= 50\end{aligned}$$

$$\begin{aligned}(-50) + (-54) &= \\ &= (-104)\end{aligned}$$

$$\begin{aligned}64 + (-79) &= \\ &= (-15)\end{aligned}$$

$$\begin{aligned}(-64) + (-45) &= \\ &= (-109)\end{aligned}$$

$$\begin{aligned}(-89) + (-86) &= \\ &= (-175)\end{aligned}$$

$$\begin{aligned}(-84) + (-32) &= \\ &= (-116)\end{aligned}$$

$$\begin{aligned}(-61) + (-29) &= \\ &= (-90)\end{aligned}$$

$$\begin{aligned}66 + 60 &= \\ &= 126\end{aligned}$$

$$\begin{aligned}38 + 59 &= \\ &= 97\end{aligned}$$

$$\begin{aligned}(-86) + (-97) &= \\ &= (-183)\end{aligned}$$

$$\begin{aligned}(-4) + (-57) &= \\ &= (-61)\end{aligned}$$

$$\begin{aligned}25 + 52 &= \\ &= 77\end{aligned}$$

$$\begin{aligned}49 + (-14) &= \\ &= 35\end{aligned}$$

$$\begin{aligned}52 + 11 &= \\ &= 63\end{aligned}$$

$$\begin{aligned}75 + 14 &= \\ &= 89\end{aligned}$$

$$\begin{aligned}(-44) + 78 &= \\ &= 34\end{aligned}$$

$$\begin{aligned}1 + (-44) &= \\ &= (-43)\end{aligned}$$